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QUESTION 1

How is MAC learning achieved in traditional Ethernet switches? 

A. As frames leave the switch, the DA is populated into the FDB. 

B. As frames enter the switch, the DA is populated into the FDB. 

C. As frames leave the switch, the SA is populated into the FDB. 

D. As frames enter the switch, the SA is populated into the FDB. 

Correct Answer: D 

 

QUESTION 2

After the "disable-learning" command has been executed at the VPLS level, a new client device originates a frame.
What is the result? 

A. If the MAC address of this new client device does not reach the upper limit of the configured total number of MAC
addresses allowed in the VPLS forwarding database, then the new MAC address will be stored. 

B. The new source MAC addresses will not be entered in the VPLS service forwarding database. 

C. New local source MAC addresses will not be entered in the VPLS service forwarding database, but new remote MAC
addresses would continue to be entered. 

D. New remote source MAC addresses will not be entered in the VPLS services forwarding database, but new local
MAC addresses would continue to be entered. 

Correct Answer: B 

 

 

QUESTION 3

The service-mtu of a VPLS using MPLS encapsulation is set to 9100. What is the minimum MTU value that can be set
for the network port if fast re-route facility mode is used on the SDP LSP? 

A. 9100 

B. 9104 

C. 9108 

D. 9122 

E. 9126 

Correct Answer: E 
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QUESTION 4

The command "send flush-on-failure" has been enabled within a VPLS instance. What does the PE do upon detection of
a SAP failure within the VPLS? 

A. The PE sends an LDP control message that flushes all FDB entries in the VPLS instance. 

B. The PE sends an LDP control message that flushes all FDB entries in the VPLS instance that are associated with the
PE that detected the failure. 

C. The PE flushes it\\'s local FDB only. 

D. The PE sends an oam service message that flushes all FDB entries in the VPLS instance. 

Correct Answer: B 

 

QUESTION 5

To reduce the amount of flooding between PE devices which of the following steps should be taken? 

A. Configure the local age timer to be larger. 

B. Configure the local age timer to be lower. 

C. Configure the remote age timer to be larger. 

D. Configure the remote age to be lower. 

Correct Answer: C 
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